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run_13067001 _FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13067001 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13067001 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13067001 _FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 00:33:19 2012
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run_13067001 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13067001 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13067001 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13067001 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 00:30:41 2012
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run_13067001 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 00:32:47 2012
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run_13067001 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 00:33:21 2012
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run_13067001 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 00:30:45 2012
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run_13067001 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13067001 _FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Wed Mar 7 00:33:23 2012
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run_13067001 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13067001 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
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run_13067001 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13067001 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13067001 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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[ADC for FGT RDO=1,ARM=2,APV=5 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

|
3

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

3000 40(
raw ADC

[[ADC for FGT

RDO=1,ARM=2,APV=5_J

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

il .

= 1|I‘I1|I‘I1||‘I1H‘I1H‘i1H‘I1||‘I1H‘I1H‘I1H'I|I‘I'I

N
NE-.

APV channel

[ADC for FGT

RDO=1,ARM=2,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[CADC for FGT

RDO=1,ARM=2,APV=7 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|r|1 I|‘I1II‘|1 T

20 40 60 80
APV channel

[[ADC for FGT

Py
]

O=1,ARM=2,APV=8_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ADCfor FGT

RDO=1,ARM=2,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

.4 . .d4 .0 A 0l

10

10

10

10

10




run_13067001 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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Wed Mar 7 00:32:55 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel
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run_13067001 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Wed Mar 7 00:31:25 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0 |
4000
3 ° =
-1 g =
%) = ...
9 Q 3500 F=
< < =
3000 f=—----
= 10
2500 f=—- - - -
=
2000 f=—-- - -
=
1500 f=—- - - -
10 = 1
1000 p=—- - - -
=
500 pm—— - - - -
=
=
ofe—-
§ = : : : : : : 10
1 1 1 1 1 1 1
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=1 } [ ADC for FGT RDO=1,ARM=4,APV=1 }
- 4000 p—
5] = . . H 5 5 g
5 = :
9 3500 fm—{- == qre-e- EEEEE EET TR SR EE T
< = H
3000 P=— == t----- Focgqesofpsosss S ELEL 10
2500 fm—v{- == - e en EEEEE T SEP Sete-
2000 fm— - - --t----- EEEEE P R EEEE R
= 5
1500 = v|= s = np e s EEEE S EETY PR IR 1
= b
1000 P=— o[- - - e e e EEEEY PR PR Siete-
= 2 2 2
500 fm—
= 8 .
0 et e e T f1mas 10°
= . i . . i . . i . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=4APV=2 } [ ADC for FGT RDO=1,ARM=4,APV=2 }
4000
3 o
|3 z
19) 9 3500
[a] o
< <
3000 R - {-{ - p ekt b e e
2500 b— - {-{ - p ek m et bbb e EEr
2000
Ll e e B R A B R Y I e O R CEE TR EEREE O TEEEE [ CE T e
Tl = e B R A B R Y B e R TR TR T EL R O R e
Ll = e R O I A o B A A B ] ) R B P R P PP PP B PR B PP e
10°
0
3000 4000 20 20 6 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=3
4000

3500

ADC-ped

3000
2500 f=
2000

1500

1000

500

10
0

0 1000 2000 3000 4000
raw ADC APV channel

ADC for FGT RDO=1,ARM=4,APV=4 } [ ADC for FGT RDO=1,ARM=4,APV=4
4000

3500

ADC-ped

3000

2500
2000

1500

1000

500

10

0

A A E A A A
rrrrrr
— —
= 5

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

1000 2000 3000 40(
raw ADC APV channel




run_13067001 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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